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AnekcaHapoBHa



OaHo: PelweHue:
n(N,) = 10 kmonb m=n-M
M (N,)= 28 kr/kmonb
HanTtu: m (N,)=10 kmonb*28 kr/kmonb = 280 kr
m (N,) - ?
N(N22)-? N =n-Na
N(N,) = 10 kmonb* 6*102°1/kmornb=
6%1027

Oteet: m (N,)= 280«kr
N(N,) =6*102"

KysHeuoBa Onbra 08/10/2023
AnekcaHapoBHa



[OaHo: PelwleHue:
n(l,) = 5 mmonb m=n-M
M (1,)= 254 mr/mMmornb
Hawntu: m (1,)=5 MmMonb™254Mr/MMonb =
m-? 1270mr =1,27t
N-7? N =n-Na
N(l,) = 5 mmonb* 6*10°°1/Mmmonb=
3*1021
Oteet: m (l,)= 1,271
N(I,) =3*102"
KysHeuoBa Onbra 08/10/2023

AnekcaHapoBHa



PeweHue:

OaHo:
m(CO,) = 88 mr S
M
Hantu: M(CO,) = 44 mr/mMmmonb
n(CO,) -7
N(CO,) - ? n(CO,)= 88Mme =2 MMOIb
A4 me / mmons
N =n-Na
N(CO,) =2mmons-6-10% L _i2a0™
MMOJIb
Oteet: N(CO,) = 2 Mmmonb
N(CO,) = 12*10%°
KysHeuoBa Onbra 08/10/2023

AnekcaHapoBHa



PeweHue:

OaHo:
m (P) = 6.2 kr S
M
Hautu: M(P) = 31 kr/kmonb
n(P)-?
N (P)-? n(Py=— 92 0 21mone

31xe/ kmons

N =n-Na

1

KMOJlb

N(P) =2kmons-6-10°° =1,2-10%

OtBeT: n (P) =0,2 kmonb
N (P) = 1,2*10%°

KysHeuoBa Onbra 08/10/2023
AnekcaHapoBHa



OaHo: PelwweHne:

N(O,) = 24*10% | ,,_ IV
Na

Hauntu: n(0;) = 2243,.1 0~ =4-10° mosb =4xmon
6-:10°°1/ moaw

n(O,) -7

m (O,) - ? m=n-M

M(O,)=48 kr / kmonb

m(0,) = 4xmonw - 48ke / kmonv =192ke

OteeT: n(O,) = 4 KMOnb
m(O,) = 192 kr

KysHeuoBa Onbra 08/10/2023
AnekcaHapoBHa



